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Quick Preview: The problem

What does this picture show?

“A dog running”
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Quick Preview: The problem

What does this video show?

“A kid eating ice-cream”



! >#*<)&,#*3#$%&'()#%*+#&,-.*(2$-;*$%&,2.('%&*()+,?

Quick Preview: The problem

“A kid eating ice-cream”

What does this video show?
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Quick Preview: The problem

“False”

The baby eats ice-cream before walking down hill? True or False?
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Quick Preview: Our contributions
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Quick Preview: Our contributions

The baby eats ice-cream before

walking down hill.

The baby walks down hill before

eating ice-cream.
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The test of  time
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The test of  time
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Existing model fail this test of  time
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Existing model fail this test of  time
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How to instil this sense of  time?
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How to instil this sense of  time?
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How to instil this sense of  time?

Loss weight: αsame

Loss weight: αcross

Loss weight: β

TACT: Temporal Adaptation by Consistent Time-ordering
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Experiments: Synthetic benchmark
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Does it work beyond before-after relations?
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Does it work beyond this narrow sense of  time?
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Does it work beyond this narrow sense of  time?
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Summary

! F,*92#9#.,*'*A(,.(*#3*()+,B*3#2*<)&,#H-'%1$'1,*+#&,-.]*F,*.=#6*,G).()%1*+#&,-.*3')-*
#%*(=).*(,.(]


! F,*92#9#.,*'*.)+9-,*2,4)9,L*I^PIL*(#*)%.()-*(=).*.,%.,*#3*()+,*6)(=#$(*2,H(2')%)%1*32#+*
.42'(4=]


! F,*.=#6*(='(*'&'9(,&*+#&,-.*.=#6*92#+).,*J,;#%&*(=,*(,+9#2'-*2,-'()#%.*
4#%.)&,2,&*'%&*(#*+#2,*1,%,2'-*(,+9#2'-*2,'.#%)%1*('.C.



Thank you!

bpiyush.github.io/testoftime-website/

https://bpiyush.github.io/testoftime-website/

